| Wednerdsy, Tauaary, 25, 2023

L Base Reviee of Vec/7(°‘f‘ Cal culus

—

@ k\/ZC 7L’f F; 'C(C{J' (C«r 7Le,,$‘/‘el—\ ro'LC//‘lAaf{f)

Q V(c,ilof q;:a&'aC( au'ﬂ .
Ee v

— -’L}'P’I“‘((7 O(LS'lfaC{'/ ne'\'dy&r"“// 3D

A :(Aﬂ (7,), A7), ’“’s(r—'j
= (/44 (1/7/3)/ }47 (79 7!3){ A'f) (’(’7’3>>

' Gevera (.(‘7/ f}r[’fca((} ' the V€c+°f’ }[:'L(o( cm,a-k?u'to (/4,,(, A, /’2)
are. C,G@\AA“M @ud a/r%fet‘f‘q;& 7£a«c7§3k4 0][ H.e
8 Cur‘hfl'«n C_,oa'w(l'«—\a.{ts 7 - (9!, Y., 3) [ and Cime f]

not offen in i3

— 7

Cawrst .



#

. \/adLor ?rcw(uc'f; o fruo vec}or; ; £ ;

y _er \/f(_{'or‘ Lrelds
/4 fC-A ar F"”é“’f ( 0(0?‘ /)rw(ad(/) =  ncusber

) —p —

| A-B = AL 4+ /4,/3’ - /43/)’} A
- — u?ld{’w
= Al e, (wn 2o

ffeis tudd 2 v >
.yﬂ('?)'_t?(f:)__ ol . 2(‘ bemcen 748 /{3

AN w3t e ot HGE) BE), Hen
1 P, : ftl{'e.lf a ""U‘f“(‘{,/, S g

h07L /oCa ]

ifve"{"' ”-‘”“?“'—"{“‘(‘ (i-e. “,_l_e_e«}ﬂ.\ “ ) _ ﬁ A / = \/;T ,m
B [/ec or- frw/acf ( Cross Pﬂ,d(_u&{:) \/-&c_?Lor

L AXE < (4 A, _-AQX e L gk/‘* ]
e ey B BNRRT




#%

\/Z c*"r ‘Fldﬁ( \\de rl‘Va'fl‘Ve Iy : t
(¢ er=r=

I A9 r ‘f"”’u
LA Geadied Yo, i

74{ 7r4¢(/e4«7L f K Ac,aéif 74 &é{ '7£( % 5, ;) A
1 ﬂte ve c'rl;f

Gf - fopf  f of

7 —

L S s
S R SRS, B O

,,Dl'rlc'&'m O‘F af' V'][ /""‘é" PN /i—( a//rec//o« o7[
Mﬁ)ﬂmum‘ ’"Crlee 97[ M-? ﬁac?‘toh{k»}/‘

_Za?m'/u/e o/ i{ ['\’7' f/ 2,'\/61‘ e ,,(n/sc 44’:} fe drectin

- of osvaxrmen  su(reate .

De’ ogaﬁar VAR 55 (Q_ 5 2T L E
P TR L NS T

Q) Zfr ﬁg (u9.3) = o = (o 0 C) for £z %, 4%.,3-),
—_
‘{/L?A l\.l' Cacs Qe Ly Q.{o‘“/ - -2

A . (o 40 .ej/‘er a local puordinan /ﬂmmucm or pacdle ﬁn'«f )

—




#4
Sl o
)

( 2 € '7 + ’8“
_; - l,

g —

—
—

B——

/

/ T 4
<y «7
L 7 9

’)?lﬁ

"
e

/ A

T

<3

Ty

s D2

T

N k3
T
F 4 g

D

\

)

= [

<1

[2*

I
_—




H#HS

| B. D,‘U(’rﬁeucg
'Téc a//‘wrgeacL o7£ A Lec /o 74'24{ /:}—r{/_.) P

Qa AC&(ar : s
péd 1. o VA= 2 A+ 2 A 4 2 A
: — 2y 23
Gronple Lo A7) = s n
= (nny o o) ien castut fln

-~V'A:%*%G*?_O=O=-)*

,"[ 7“4 ‘HM“‘( oF ’-‘( vec‘f"l'
(.uu as  flerd VC(’déMq/.

e =
—————p —eeei — ————Y
e — —_—
—_— —_—

“Examv/el: /Z(r_'): (491/ o o>

“incr ¢4S"u) -F(ofw “ (or "a ccele re'ﬁ'«J ; -f(ow)

S,
A
| S —
VA= 2 K 4 2 ¢ 4 2 0 = a
, "oy 2%
—< bl i
— > > o =
—_— = -> = =
e e i 2 —
— — =

L Tf fluid Flw incresses fyeloih imcrenmes) m o a
[ _c,:u_s)u* Aensity apedsom ,_’H—\m« f{m‘d /n\us']' have beewn Cr{allw( .




